Rz g5 7 e F1038 & RATL IS 4 FEA

P AR T ¥ CAT L PR _BRasy
Foreib b ¥ F L 1 AA FLF-FLF

1 (01)h® #h P ¥ SEES B 0 A BoX, Y 0 3 2 % 4 BT X R Plz 5 3 <20 100 i dic
y

S L R 2 (10%)
2. () 7 #xit Chebyshev 7 % 5% - (5%)
(o) A FRERELr AT LA ERRDALAL > BRI HLFRL P R AT K
T & R 950% M AE Firdlf 0.05 4N iR T s % Chebyshev # % 38 R#1 7 % 4
<)o (10%)

3. (@ & X,,n=12,---, % iid,EX, = p,var(X,) =1 P15 8 232 » AP¥ UEP
Z(X —p) AT g A A REF AT 2 (3%)
(b) H#M (@) - (12%)
4. () % X>0 > :‘?;%.Exr:rI:tHP(X Stydt » B¢ r>1- (5%)
() Ft>w > P(XPt)at“ a>le RHEE|X|<w o (5%)

5. 2% Xy X, 5 LLOSER S8BT RAEF A G N(u,o?) » e proiahie

n

@ @#fus o’ s P2 o (8%)

(b) R¥p@)E % HoDr kEE o (5%)
() Fo=1% 4> FEfp’ehiag b $B 87 Bt E(UMVUE) -  (T%)
6. £ X,... X : f(x;e):iexp(—ﬁl; x>0% 6>0 -
1 n 0 9
@) i dal-a k2 RiFEwEEF - (10%)

(o) 3 "jRfEL L@ TRLZREHE S 5 HODPI LT Sl-a - (5%)

id 2 3
7. B X,...,. X, ~ f(x0)= exp( X j; —0<X<w * o>02¢ »‘*T(X):Z:Xi2 o

\/_U i=1
(@) #E BT B R JE{F(X0):0>0 #HT(X) %3 #apint (MLRIEF « (5%)

(b) #lt& T H,:0’°=1vs. H 0" >1» Ffa kBT 5355 k4 (UMP) KR - (10%)




